L»(16).2 (mod 2)

blocks | defect | matrix

G: 1 ) 14 x9
2 1 2x1
Block 1: | v10 Y2+ @i+ @60 P70 P8+ Plo+ Piz+ Plat
11 =x1,0 1
lo =x1,1 1 .
301 = X2+ 2 . 1 1 1
305 = Y4y 2 1 . . 1 1
303 = X6+ 2 1 2 . 2 1 .
304 = X8+ 2 2 1 2 . 1
171 = X11,0 1 1 1 1 1
172 = X11,1 1 1 1 1 1
173 = X12,0 1 1 1 1
174 = X12,1 1 . 1 . 1 1 .
175 = X13,0 1 1 1 1
176 = X13,1 1 1 1 1 .
341 = X14+ 2 1 1 1 . 1
342 = X16+ 2 1 1 1 1
oL ! pgr = 81
par = 4 — 3
Yur = 4o P10+ B 12
Voo = 43 Pi2+ = 1
’ prap = 162
wro = 4
Block 2: ©16,0
16 =xi00| 1 P00 = 103
162 = Xx10,1 1




